Precalculus WS Angles and their Measures
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1. Express each angle in exact radian measure. ‘ I é)’(_)
Yo I oof- 1128° \S 2.5° T
B A 1031 S5
315° H 206° 80 -550° %
- 1T - 15 171
-14° 90 -302° q DE 17°° (20
, 120°
2. Express each angle in degree measure P LA P{La Bé} sl
0
3z 270" Iz 21 0° 347 ~O3
2 6 - 15 -
o
- Q .
__7_1 - lbt\) ° ﬁ 020 15 ¥ IS)OO 1‘”33@ WSJ&
2 . ’ (RTY e,
[#] . <&
=z £40 = GG a4 v 130° —lHel u;:jfil.
3 - 30 - A QS
@) Be copeful)

@

3. Determine two cotermmal angles (one positive and one negative) for each angle. A 0(64,/ Subtra A
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4. Determine two coterminal angles (one positive and one negative) for each angle Give answer in radians.
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5. Determine the quadrant in which angle lies.
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6. Sketch each angle in standard position.
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7. Determine the quadrant in which the angle lies.
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8. Sketch each angle in standard position.
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10. Find the complement and the supplement, if applicable.
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11. Sofia is spinning a wheel on a game show. There al‘é\g@ues in equal-sized spaces around the
circumference of the wheel. The value that Sofia needs to win is two spaces above the space where
she starts her spin, and the wheel must make at least one full rotation for the spin to count. Describe a
spin rotation in degrees that will give Sofia a winning result.
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